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» ‘Where democracy is strong, political science is
strong; where democracy is weak, political science is
weak’. Who among the following has given this
statement?

(2) Sidney Verba

(4) Giovanni Sartori

(1) Samuel Huntington
(3) Robert Dahl .
(5) Question not attempted

- Which of following pair (Slogan-Leader) is incorrect? 2.

(1) Andhera Chantega, Suraj Niklega, Kamal Khilega
— Lal Krishna Advani

(2) Indira Hatao, Desh Bachao — Jaiprakash Narayan

(3) Maa, Mati Manush —Mamta Banerjee

(4) Assi Takke Samajkaran, Bees Takke Rajkaran —
Bal Thackeray

(5) Question not attempted

- Which of the following statement is not correct 3.

regarding 9/11 terrorist attacks (September 11, 2001)?

(1) The hijackers crashed two of the airliners into the
Twin Towers of the World Trade Centre in New
York City.

(2) The fourth plane crashed just outside US
Congress in Washington.

(3) They were a series of coordinated snicide attacks
by Al Qaeda upon the USA. 19 Al Qaeda
terrorists hijacked four commercial passenger jet
airliners.

(4) The hijackers crashed a third airliner into the
Pentagon, the headquarters of the United States
Department of Defense in Arlington. .

(5) Question not attempted

« Which of the -foliowing statements is not correct 4
about Association of Southeast Asian Nations g

(ASEAN)?

(1) ASEAN plays a leading role in the East Asia
Summit (EAS), which has been held annually
since 2005.

(2) Cambodia was the last country to become
member of ASEAN in 1999.

(3) The ASEAN Plus Three grouping, created in
1997, has strengthened cooperation between the
ten members of ASEAN and China, Japan and
India. . _

(4) ASEAN Regibnal Forum (ARF) was established
in 1994, which aims to build confidénce andy
enhanced dialogue on security matters amongst
Asia-Pacific countries.

(5) Question not attempted

»
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- Who termed democracy as "Corruption, Machine

-Politics and Gangsterism’?
(1) J. Schumpeter

(3) W. Pareto

(5) Question not attempted

(2) K.J. Mannheim
(4) C.B. Macpherson

- Which of the following statement is incorrect in the

context of Globalisation?

(1) Rosenau consider technology as thé driving force,

of globalisation.

(2) David Held considers globalisation as a result of
modernity.

(3) Wallerstein believes capitalism responsible for
globalisation.

(4) Gilpin consider economic factors to be the main
cause of the intensification of Globalisation.

(5) Question not attempted

\

following  statements about

Post-behaviouralism —

(I) The post-behaviouralists did not deny the
importance of technical proficiency. ‘

(I) They did not agree that the search for basic
understanding and reliable knowledge necessarily
implied that the scientist should cut himself adrift
from the practical concerns of society nor did
they believe that values could be kept out of all
scientific pursuits.

Choose the correct,option -

(1) Only (I) is correct (2)Both (I) and (II) are

correct

(3) Only (1I) is correct (4) Neither (I) nor (II) are

correct

(5) Question not attempted

- Consider the following statements carefully about

Rawls’ Theory of Justice -
(i) Rawls outlined the features of his conception of

justice in an article that appeared in 1957, entitled
‘Justice as Fairness’ culminating in ‘A Theory
of Justice’.

(ii) The elaboration and clarification of theory
continued even after the publication of ‘A Theory
of Justice’ through two more books — Political
Liberalism (1993). and The Law of Peoples
(1999).

Select the correct option among the following -

_ (1) Both statements (i) and (ii) are false

(2) Only statefent (ii) is true

(3) Only statement (i) is true

(4) Both statements (i) and (ii) are true-

(5) Question not attempted
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9. Which of the following statement regarding UN 9.

10.

11.

12

13.

Peacekeeping is not correct?

(1) No reference to peacekeeping exists in the UN
Charter, but classical peacekeeping mandates and
mechanisms are based on Chapter VI of the UN
Charter.

(2} Classical peacekeeping involves the establishment
of a UN force, under UN command, to be placed
between the parties to a dispute after a ceasefire.

(3) This mechanism was first used in 1956, when a
UN force was sent to Egypt to facilitate the
exodus of the British and French forces from the
Suez Canal area.

(4} Such a force uses its Wweapons only in self-
defence, is established with the consent of the

host state and includes forces from any two

permanent members of UN Security Council.

(5) Question not attempted

Which of the following pair (Work-Author) is

incorrect?

(1} Caste in Modern India: And Other Essays —
M.N. Srinivas

(2} Religions and Society Amongst the Coorgs of
South India — Ronald J. Herring

(3) Religion, Caste and Politics in India -
Christophe Jaffrelot
(4) The Modemity of Tradition: Political

Development in India ~ Rudolph and Rudoiph
(5) Question not attempted
Who among the following theorist did not present the
scientific account of revolution?
(1) Chalmers Johnson ~ (2) Ted Gurr
{3) David Miller (4) Charles Tilly
(5) Question not attempted

Who among the following scholars has stated that
citizens of India have taken Constitution as
‘New Dharmasastra*?

(1) Granville Austin _

(3) Morris Jones

(5) Question not attempted

Consider the following statements regardmg Climate
Change Agreement 2015 —

Statement I — The agreement was ratified by 195
countries at the Conference of the Parties (COP-21)
session in Paris on 12 Dec, 2015.

Statement II — All the countries agreed to reduce
global temperature by 4° Celsius. To avoid
environmental crisis, a provision of $400 billion
annual aid was made to developing countries, from
the year 2020.

Choose the correct option -

(1) Statement I and II both are false
(2) Statement I and II both ‘are true
(3) Only statement II is true

(4) Only statement I is true

(5) Question not attempted

(2) C.P. Bhambri
'(4) Rajni Kothari
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g 14. Read the following statements -about Hegel’s book
‘Philosophy of Right’ -
(I) Hegel explicitly accepted the Kantlan notion of
Perpetual Peace.
(M) He discussed political parties and pressure
groups in detail in this book.
(111) Hegel advocated limited freedom of the press.
Select the correct option among the following -
(1) Only II is true. {2) Only IT and I are true
(3) Only Iis true (4) AUl L II and IIT are true
(5) Question not attempted

order as -

(3) Multipolar order  (4) Multiplex order
(5) Question not attempted
16. Who made this statement underlining the inequality
in Indian Society?
“In assessing the nature of Contemporary India, it is
esséntial to take note not only of the pervasive reach
of inequality, but-also of its rather special nature.”
(1) Morris Jones (2) Rajni Kothari
; (3) Amartya Sen (4) C.P. Bhambri
; (5) Question not attempted
7. Who made the distinction between the ‘Represswe
r apparatus’ and ‘ldeological apparatus’ in relation to
‘ the State?
(1) Antonio Gramsci (2) Robert Nozick
(3) Louis Althusser (4) Nicos Poulantzas
(5) Question not attempted 5
18. Match List-I with List- and select the correct code -
p List-I
™ ‘ (Definition of Civil Society)
(@ An_intermediary entity standing between the
private sphere and the state
(b) Not a thing but a set of conditions within, which
‘ individuals interact collectively with the state
' (©
(d),

Rl e

An inclusive, umbrella-like concept referring to
plethora of institutes outside the state
Social interaction between-the household and the
state characterized by community cooperation,
,ﬁ structures of voluntary association and networks
of public communication '
\ List-1I
] (Thinker)
(@) Jaffrey Alexander
(ii) Larry Diamond
(iii) Michael Bratton
(iv) Dipankar Gupta
Choose the correct code -
(1 )q a-ii, b-iv, c-i, d-iii
(3) a-iv, b-ii, c-iii, d-i
(5) Question not attempted

(2) a4, bAii, c-iii, d-iv
(4) a-iii, b, c-v, d-ii

15. Amitav Acharya has described the emerging global

(1) Deglobalized order (2) Liberal hegemonic order

14.

15.

16.

17.

18.
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19. Who among the following theorists claims that

federalism is. always a result of a collective response:

to external or internal threats to dominant central and

regional coalitions?

(1) William H. Riker

(3) Martin Hollis

(5) Question not attempted
20. Assértion (A): Positivism is the theory that considers

only the knowledge obtained through scientific

method to be appropriate, reliable and anthentic.

(2) Daniel Kahneman
(4) Anthony Downs

Reason (R): The supporters of positivism demand
that in order to give authentic form to the content of
social sciences, it is necessary to mould it in
accordance with the methodology of natural sciences.
Choose the correct answer -

(1) (A) is false but (R) is true

(2) Both (A) and (R) are false

(3) (A) is true but (R) is false

(4) Both (A) and (R) are true

(5) Question not attempted

21. Which. of the following situation of crisis regarding

political development was not mentioned by Lucian-

‘W. Pye?

(1) Nation Building Crisis (2) Legitimacy Crisis

(3) Identity Crisis (4) Penetration Crisis

(5) Question not attempted

22. Consider the following characteristics of New Social

Movements éummarized by Alan Scott -

(i) Locally based or centred on small groups

(i) Organised around specific, often local and single
issue

(iii) Vacillation between periods of high and low
activity

(iv) Fixed membership

(v) ‘Common social critique’ as the ideological
frame of reference

Select the correct option -

(1) Al @), (i), (iii), (iv) and {v) are correct

(2) Only (i), (i), (iii) and (iv) are correct

(3) Only (i), (ii), (iii) and (v) are correct

(8) Only (i), (iii), (iv) and (v) are correct

(5) Question not attempted

19.

20.

21.
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() IR w9 ¥ ARG 91 BIC WE W dwg

(i) fiffre, sR =M R od | P zi-fid
Hifed

(iii) 9=a 3R w1 wifefafr & sl & 99 SaR—=em

(iv) =T ag=ar

v) ¥ & ¥RE TF @ wU § EEE G
SICICEIE

WS Ree o1 99 B —

(1) @), @), (i), Gv) 3R (v) T T &

(2) St (i), (i), (iii) 3R ({v) =& &

(3) Baa (i), (if), (iii) ¥ (v) & &

(@) daer (i), (i), (iv) 3N (v) & &

(5) srgaiRa U

14 -3
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23. Consider the followmg statements in reference to

Granville Austin’s book, “The Indian Constitution:

- Cornerstone of a Nation’ —

(i) According to Austin, “The Constituent Assembly
was a one-party body in an essentially one-patty
country. The Assembly was the Congress and the
Congress was India.”

(ii) He points out that “The Assembly, the Congress,

! and the Government were like the points of a

i triangle, separate entities but, linked by over-
lapping membership, they assumed a form
infinitely meaningful for India.”

Select the correct option among the following -

(1) Statement (i) and (ii) are true

(2) Neither statement (i) nor (ii) is true

(3) Only statement (i) is trae -

(4) Only statement (ii) is true

(5) Question not attempted

24. Which of the following statement regarding
superpower tensions during the Cold War is not

correct? .

(1) It is believed that in November, 1983 Soviet
intelligence agencies misinterpreted a. training
exercise by North Atlantic Treaty Organization
(NATO), leading to fear in Moscow that NATO
was preparing an attack. '

| {2) The Americans reacted by deploying of American
| nuclear missiles in Europe and this created a
[

climate of great tension in East-West relations.
(3) In 1983, Soviet air defences shot down a Japanese
civilian airliner in Soviet airspace.
(4) The NATO training exercise was code named
‘Able Archer’.
(5) Question not attempted
25. Which of the following scholars has given a view that
the paiticipation of castes in electoral politics in India
has created a “Democracy of castes’ in place of
‘Hierarchy of castes’?
(1) Paul Brass:
(3) James Manor
(5) Question not attempted
26. What is Natural Law according to Cicero? r
(I) Reason (
(1) Universally applicable moral duty
(1) In accordance with nature
(1V) Socially changeable
Choose the cortect option - }
- (1) Only I, II and III are correct
(2) Only I, If and IV are correct
(3) Only IT, HI and IV are correct
(4) Only I and III are correct
(5) Question not attempted

(2) C.P. Bhambri
(4) Sudipta Kaviraj

s

23, iR difter @ TwE T IRAT DR -
mﬁ@qwqﬁ‘wzﬁwﬁﬁﬁﬁmﬁamm
R o —~
() siiReq & omER, “dfdwm w1 R ?aq?f

TH-qoid < A UP—gaid o off | e
(i) 9 9O & 5 “dieas i, iU iR WeR U6
<fp, aIfter< wewar ¥ 93 8F 9§ 9RG
& forg ol w9 ¥ arfe Wy gror e e
frafoaRas § & 98 Rwea\sr a97 o8 —
(1) e @) 3 (i) v §
(2) = o B () A (i) T ]
(3) ddet Fum (i) 9™ B
(4) ®aet P (i) T §
(5) argaiRa ued
24. g gg & <RM TERIGA T @ Hey § et §
I FA HE TE 27
()7 < § 5 wEex, 1983 ¥ Wi gfhar
wiftEl 9 ST eeaifes W Hien (AR) @
ufdierr e @ el wrem @, R 6k §
T B T 5 AT w9 BI-AAN PR e 8

(2) siRfeai 5 Ry F mReT wu] gl @

, O o ufafn dEa o sk s gd—afdem
el R o9 &7 el S &l T

(3) 1983 ¥, wWifaga arg < 4, Wifdad a8 &7 4 @
WO ARG {3 B 9R RRmE|

(4) 99 Tt AREYT I BT GE W Tad ITHR @
TT o |

(5) IRk g

25. Freifea § ¥ frw Rge 3 9 Rar Rar & fF g 4
T worf § okl @ wried 9 SRt @
TR @ R TR SR BT ARbad’ R 87

(1) diat "< (2) . wis
(3) T H R (8) 48w wiaw
(5) arguRa wed

26. RERt & IR RpHid B 9497 87
O fgs
@ wd e w1 W g e oda
() pici & gt
(W)Wﬁqﬁqﬁaﬁﬂ?ﬂa
wEl ey ggmitE —
(1) &9 1,1 vq I &t &

(2) ¥aa I, ILvg IV 9eT &
(3) Baa IL I 9 IV 9 §
(4) Pae 1vd MW &

(5) 3riRa wed

T ‘

\.
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27. Who among the following distinguished between 27. frafafag # & fFaq aiafie Wl AR wFR®

28.

‘Cultural Nations’ and ‘Political Nations’? I @ g s Rpar? )

(1) ‘Giuseppe Mazzini (2) Eric Hobsbawm 1) 7[R9 AR (2) R Eisqeiy

(3) Friedrich Meinecke  (4) John Atkinson Hobson m& WeR® AFP® (4) <Si vefeas g
(5) Question not attempted 5) SIRING We

Consider the following statements about Rudolph and  28. ©Sie® 3R Teie® ¥ ety fFrefaRag woFl w far
Rudolph - T —

i Iph R . ,
(I) According to Rudolph and Rudolph,- the D). o ik vIeE B : . S

separation of tradition and modernity may arise

from still another source. The distortions that BT YA THe! 37 T | W 99 B uhar B
influence, the views held by "histoﬁcally ¥ fagRal < Wele w9 § 9N gy o1, T
ascendant classes, races or nations of those that I TS B 99 RERE B TRE axd § o e
are or were subject of them.

(I) Dominant classes, races and nations attnbute T § 9T
causal potency to those attributes associated with (I) wyemel o, % AR I W o oRfEar |
their subjection of others. P B PROTHE

Choose the correct option — I3 o1 o @ s T B F

(1) Only (I) is correct  (2) Neither (I) nor (II) is el faweT &1 T B —

correct MBTaEd e @ sqr@ L @aETF

(3) Only (I) is correct (4) Both (I) and (II)- are @) e OEE L @) Qo (II)ﬂ’Fﬁ _——

correct

(5) Question not attempted (5) s W=

29. Consider the following statements — 29. ffofae ool R faR v -

(A) Indian Institute of Public Opinion was (A) WG 3§ A9 T Y99 P 7Y, 1950 & T9w A
established in decade of 1950 to.study Election 3T SWICYT 3T ulas S o e &
in India. TE| .

(B) The First Journal of Indian Instltute of Public (B) 3RT §=Iee e qﬁq@ i &1 mem
Opinion ‘Public Voting Behaviour Studies’ was o e aftn RRftr =S 1952
published in 1952. BT §S |

_ Select the correct option among the following - - fpafafen § 3 92 Rew & wae Sifvw —

(1) Only (B) is true (2) (A) and (B) both are true (1) Faa (B) 9’ T 2 (A) 3R B) oFF T §

(3) Only (A)istrue (4) (A) and (B)both are false @) Fad (A)FI 2 @) (AR (B) I e

(5) Question not attempted (5) sraRa e

30. Arrange the following works in the comect 30. frafoReg sfoEl & s U™ @ W&

chronological order of their publication and choose &9 H iR &SR A Ry U o $ R W

the correct option based on the code given below — we faweq g+ —

(A) Prison Notebooks: Volume I . A) fem =ha§zm aegH. 1

(B) The Theory of Communicative Action (B) T <Al di% Hrgf@ied T

(C) Black Skin, White Masks (©) =i e, TR D .

(D) Origins of Totalitarianism (D) IRRrg aifr SeforeRafw

(E) Spheres of Justice (B) Iy i wiRew

() A,D,C,B,E (2 A,C,D,B,E (1) A,D,C,B,E (2) A,C,D,B,E

(3) D,A,C,E,B (4 A,C,B,D,E - (3) D,A,CE, B (9 A,C,B,D.E

(5) Question not attempted (5) argaie W

31. Which of the following phrase/terminology is not 31. FwfeReg ¥ & o1 Sfk/ wreemel oifgw gfeq '\ﬁ

related to Thomas Hobbes? T e 87

(1) Rational self-preservation (1) fadyol sirewRer

(2) The State is a mean, not an end (2) 5T AN B, ARg T8

(3) Scientific inaterialism (3) A= stRkrpag

(4) The individual did not have the right to resist the (4) =fem @1 i@ @ Rl & Tmn] & kY & &1
sovereign in any condition SHEBI ~TEl o

(5) Question not attempted (5) srgaRa s

14 -2 Page § of 32




32. How many seats did the Dravida Munnetra
Kazhagam (DMK) get in the 18® Lok Sabha
Elections in 20247
(1) 22 (2) 26 (3) 27 {4) 19
(5) Question not attempted

33. Which of the following countries has not been
comparatively analysed in the book ‘State-Directed
Development: Political Power and Industrialization in
Global Periphery’ written by Atul Kolhi?

(1) Brazil (2) South Africa
(3) Nigeria (4) India
{5) Question not attempted

‘34. The book “Recent Trends in Indian Nationalism” is

the creation of which author?
(1) Daya Krishna (2) AR. Desai
{(3) V.R. Mehta (4) Rajni Kothari
(5) Question not attempted

35. Consider the following statements carefully about
Green’s idea of the State, rights and -social
recognition - _
Statement (i): Green believes that political society is
not based on contract, but all ideas of contract,
including social contract, come after the formation of
political society.
Statement (ii): However Men’s obligations to the

State can be explained in contract terms, because men ~

agree to setup the State to protect their natural rights.
Choose the correct optior from the following -

(1) Both statements (i) and (ii} are true

(2) Only statement (ii) is true

{3) Both statements (i) and (ii) are false

{(4) Only statement (i) is true

(5) Question not attempted

36. Who among the following is the propounder of the
Theory of Deconstruction? .
(1) Jacques Lacan (2) Lévi Strauss
(3) .Alexander Wendt (4) Jacques Derrida
(5) Question not attempted-
37. In which of the following years National Conference
of the Bhartiya Jansangh has adopted the philosophy
of “Integral Humanism’?
(1) 1964  (2) 1965
(5) Question not attempted
38. Which statement is wrong about State of Refugee
Crisis around the world in 2021-22?
(1) The crisis in Ukraine has made the country the
second largest country of origin for the global

(3) 1966  (4) 1963

-

32. 18 § WEawr g 2024 ¥, sl W’.’ (Siwa) .
B Rl 9 arr 590 T ~
(1) 22 (2) 26 (3) 27 (@) 19
(5) IgaIRG WA

33. Pigell T folad TW@ VT SRRECS Sdawic:
it iR TS SSIEweM 39 TWiEd NHd |

ﬁmﬁr@aﬁ # 9§ {59 < B GoreTd [awever w81 fha
T BY
(1) s (2) <ieror amhiET
(3) gsiifear (4) vRG .-
(5) ‘SreIRe we _
34. Wié?ﬁ%ﬂﬁmﬁeﬁmwﬁmﬁwaﬂ
T B
(1) gar $ur (2) TR, <Oig
(3) draR. FEar (4) =0 Bro™
(5) sraRa v '

35. M9 & wow, PR ok wMised wFgal & feR &
N # FrfafEa Foml ) aFgEs [daR o —
T (i): M &1 AT § 1% Ioriios w9 aged R
i REr Ierfe S\ @ o7 & 918 IR g |
P (ii): BT T & W A9 P SR B ey
@ ded H o o wear 8 @il Ags

(2) Bae P (i) 9 T
(3) TFT P (i) SR (ii) /e & ‘
(4) gt weF (i) 9 &

(5) srgaIRe ye=
36. fa=feiRaa 4 9 fawveqae fagia @ ufiiues @9 &7
(1) S&g A% (2) <& i
(3) srToie dgT (4) S SRer
(5) sraiRa we= '

3. fifeg @ P9 9 ¢ I e # uRa"
ST o UHid AFGdiE’ @ g3 o WIBR fFar?
(1) 1964 (2) 1965  (3) 1966  (4) 1963
(5) sriRa W -

38. ¥ 2021-22 % 3T W A IO Hae @ Rt &
N H BT T TR 87
(1) Tb= # TdHe = W B ARID TR 3MErET

; I 91 W 41 & 2. ‘
refugee population. kSl A > .
(2) Until the Ukraine crisis, 68 percent of the world’s = (2) g Wove b qd I6 w9 & gu aweneiE 4 9
entire refugees were from Syria, Venezuela, 68% wRURS WIRTL, ITGEd, AGMAEM, R
Afghanistan, South Sudan and Myanmar. T SR =R 9 I
(3) According to UNHCR Report, as of 20212 over 84 (3) qEiTEHaR. B RAE (2021) & SFUR, 84
million people had been forced to flee their home. AR SNT T TR BieY B fv fae 80
(4) The number of Somali refugees around the world . ' gl
has been on a fast growth for the past several @ W PE I W T 9 H T ROl @l
years, e doll | 9% @ §
* (5) Question not attempted (5) argIRd u=A
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39.

40.

M,

42,

43,

45,

(3) Karl Deutsch

—

In the 1970s, who among the following explained the

‘nature of political socialization in the Soviet Union by

examining the early childhood experiences of Russian
children in family and preschool institutions during
six historical periods?

(1) Alexander Cockburri (2) Robert W. Clawson -
{3) Ronald Inglehart {4) Fred Greenstein

{5) Question not-attempted

“While drafting the new Constitution of India,
fulfilling the linguistic provinces and other similar

- demands will prove to be the most complex

problem.” Who among the following stated this?
(1) K.M. Munshi (2) K.T. Shah

(3) B.N.Rao (4) Jawaharlal Nehru
(5) Question not attempted

Who among the following termed behavioral
approach as 'Behavioralist Mood'?

(1) David Easton (2) Hinge Eulau

{4) Robert Dahl

(5) Question not attempted

In which of the following years ‘Red Flag Trade
Union Congress® was established?
(1) 1933 (2) 1931 (3) 1934
(5) Question not attempted

Which of the following Committee firstly
recommended that voting should be done by
Electronic Voting Machine (E.V.M.)?

(1) Indrajit Gupta Committee

(2) Dinesh Goswami Committee

(3) Tarkunde Committee !

(4) Vohra Committee

(5) Question not attempted

(4) 1932

- In which of the following year a 17-members Special

Committee was setup.by the United Nations General
Assembly on Decolonization?

(1) 1979 () 1962 (3) 1978
(5) Question not attempted
Consider the following statements carefully about the
Concept of State and Utlhtanamsm propounded by
Bentham —

Statement (i): He was clear that the market must be
left to determine the allocation of the material product
among the individnals who contributed to it by their
labor, land or capital.

Statement (ii): He believed that a second loaf of
bread doesn't give a hungry man as much satisfaction
as the first loaf, the more you have of anything the
less the utility to you of any. increment.
Choose the correct from the following -
(1) Only statement (ii) is true

(2) Only statement (i) is true

(3) Both statements (i) and (ii) are true
(4) Both statements (i) and (ii) are false
(5) Question not attempted

(4) 1961

39.

40,

41.

42,

43.

45,

1970 & so@ ¥ f=foReg § ¥ ey ve Wl
3aRR @ IR URAR &R gEvmel vl 4wl gl
T URMG FUT S ATl B wird oD Wifdaq ae §

RISTHIfCID FHTSHERYT B TpiT DI FHIAI?

(1) aiguie’ BHpe (2) e Sy, TEAEA -
(3) FTes SERE 4) ws === .
(5) 3rgaiRa

I UHR P I AR DI QR ST TG Sieel e
fog Bl FefaRan 3 9 98 e R 27

(1) Ba. g ) 3.
3) fiwm @ (4) SIaTEYend NE®
(5) sraIRT W

Frafofe & 4 e =geRaE gResr @
"HIENGIS] TSI Bel 87

(1) Sfrs g (2) &S geme

(3) Brei g (4) ¥ s

(5) SRR e _

IS TN I BT B e el § 9
g af g o7

(1) 1933 (2) 1931 (3) 1934 (4) 1932

(5) er<IRa wed

frefeie § 9 gy 3 adwem qifeT
W(ﬁﬁw)ﬁwmaﬁaﬁmaﬁﬁ?

(1) el e |t

(2) fever irerlt afafa

(3) aRgTS AR

(4) diexr |k ¥

{(5) srgmiRG wed

frferaa 4§ 4 &9 ‘crsf A HETHAT BT

ﬁrmwﬁﬂa‘naﬂmrwnmﬁaﬁ@mvﬁrﬁrmm
ar =

(1) 1979  (2) 1962
(8) JigaRa ge=
I gRT ufofER o &) suRen vd suaifiEmae @
T~ ¥ frefafan sl W samgds fER o —
T (1) SUE WO AEAl of fh Yifde Saurg @i

() 1978  (4) 1961

Jded 89 |fdaa @ 9h FuiRa 9 @ o gomR 31

BIg ol ey Rrei amw 5@, o = 9o g% 59

ATEr o)

A (i) SHHT T o 5 gE9 A 9@ sed 9
Sl Hgite 78 qodl R geelt A8 < B, e U
foeft @ & o Rt et e el Rl o ofy

&, 3 e S & ‘W Swmfar 2l

. Prefeied ¥ & ol fve T —

v

(1) Faa FF (5) I &

(2) Saet Fd (i) 9 2

(3) i wem (1)3ﬁ'\’ (ii) 9 g
(4) <1 e () SR (i) srere &
(5) srERa weA

143

|
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46. Read the following statements regarding, CICERO’S
thoughts on democracies —

(i) Excessive liberalism of democracies ‘brings after
it the siavery of the people.

(i) Excessive liberty soon brings -the people
collectively and individually to an excessive
servitude.

(iii) Exireme liberty easily introduces the reign of
tyranny, the severest of all unjust slaveries.

Select the correct option among the following -

(1} Only statement (i) and (ii) are true -

(2) Only statement (i) is true

(3) All statements (i), (ii) and (iii) are false

(4) -All statements (i), (ii) and (iii) are true

(5) Question not atternpted

47. Underlining the need for a “reorientation” in the
comparative study of government, who described the
orientation of institutional approach as “non-
comparative”, “parochial”, “static and monographic™?

(1} Jean Blondel (2) James Bryce

(3) Moisey Ostrogorsky  (4) Roy C..Macridis

(5) Question not attempted

113

48. Consider the following statements about First
Backward Class Commission —
(A) It was established in Independent India in 1958
in the Chairmanship of Kaka Kalelkar.
(B) It pointed out 837 castes as ‘Most Backward
Castes’.
Correct answer is —
(1) (A) and (B) bothare  (2) Only (A) is true
true
(3) Only (B) is true (4)-(A) and (B) both are
false
(5) Question not attempted

49. Match List-I with List-II regarding the Charter of the
United Nations and select the correct answer by using

cdde —
List-I List-II

(Subject) (Chapter)
(2) Membership (i) Chapter I
(b) Security Council (i1) Chapter II
(c) Principles (iii) Chapter IV
(d) General Assembly (iv) Chapter V
Code -
(1) (@)-(i), ®)-Gv), (c)-(), (d)-(ii)
(2) (@)-(D, (b)-(iii), (c)-(iv), (d)-Gi) 0

(3) (@)-(), (b)-(i1), (c)-(iii), (d)-Gv)
(4) (a)-(), (b)-(ii), (c)-(), (d)-Gv)
(5) Question not attempted .

46.

47,

" 8.

49,

{

) gimmammmmmaﬁwm
| .

(i) APE TWezal Seq & ARl B GEEF aR
RN U § RGeS 3 of IR €1

(iii) oo woFaT S W AR ¢ I Bl

ﬁ%ﬁ%\ S eyl gentRl § aed
' |
mﬁﬁﬂﬁﬁwmmﬁm—

(1) @aa oM (1) R (i) ¥ §

(2) daat PO (i) I R

(3) |t B (i), (if) o (iil) T & -

(@) o T (D), (i) 3iR (iil) T &

(5) =rERa wee

WRBR & JATAD JeFqT § ARG B SAawai
B YEifrd aRd Y, R |EemE gieem @
A¥mnfees” & w § aftfa Rear?

(1) o <ia (2) o 15
(3) A SERIRDT (@) g o Afpfew
(5) iR v

o et o am & e PrRiRen FeRl W

frar PIRE -

(A) THS RO W RA 4 1958 # FihT Flefeld?
P 3egeT § B T

(B) 39 837 whivdi @ Y fwer @l & wu A
Xgifed fFar

e TR & —

(1) (A) 3R By It wcy ¥ (2) Paet (A) ¥ 2.

(3) d9q (B)9 & @ %A) R (B) TN arw

(5) s e )
G W B AN D e § AT gA-IR i
ﬁrﬁqaﬂwﬁq@wﬁﬁvﬁwwwﬁﬁm—

-1 a1
() (erema)
(2) Howdl @) s 1
(b). G RIS (i) T 0
() Thsia (iii) sregR IV
(d) HErHT (iv) 3smE V
ﬁz\a‘ —_

(1) (2)-Gi), (b)-(1v), (c)-(), (d)-Gii)
() (a)-(), (b)-(iid), (c)-(iv), (d)-(iD)
3) (2)-@), (b)-(ii), (c)-(iii), (d)-(v)
(4) (a)-(ii), (b)-(iii), (c)-(), (d)-(iv)
(5) srgaRa ued

14 -3
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50.. Which of the following statement about North-South
dialegue and UNCTAD is not correct?

(1) In the decade of 1960s and 1970s, the Chief
Spokesperson of the South was Raul Prebisch.

(2) The major initiative taken during Prebisch’s
tenure included the creation of commeodity
agreements and increased financial aid from the
developed North to the South.

(3) In 1ts early stage of operation, UNCTAD gained

: authoritative standing as an intergovernmental
“forum for North-South Dialogue and negotiations
on issues of interest to developing countries,
including debates on the ‘New International
Economic Order’.

(4) Prebisch was the second Secretary General of the
United Nations. Conference on Trade and
Development (UNCTAD) from 1965 to 1970.

(5) Question not attempted

51. Which of the following is correct regarding the

European Free Trade-Association (EFTA)?

(1) EFTA. countries are Switzerland, Iceland, Norway
and Liechtenstein. )

(2) India and European Free Trade Association
(EFTA) signed Tradé and Economic Partnership
Agreement (TEPA) in February, 2024,

(3) Akey hlghllght of the TEPA is that the EFTA has
committed to promote investments with the aim
to increase the stock of foreign direct investment
by USD 150 billion in India in the next 10 years,
and to facilitate the generation of 1.2 million
direct employment in India.

(4) EFTA is an inter-governmental organization setup
in 1970 for the promotion of free trade and
economic integration for the benefit of its four
Member States.

(5) Question not attempted -

52. Consider the following statements carefully about
Marxist theory of ideology -
Statement (i): The Marxist Theory of ideology, and
in particular the idea of ‘false consciousness’,
certainly cast grave doubts on the possibility that all
men could come to share the same belief system.
Statement (ii): Marxism added the twist that the
fundamental fault did not lie in the available belief
systems, rather the fault ran through the societies in
which those belief systems tried to universalize
themselves.
Statement (iii): In Marxist terms, the only way that a
whole society could share the same system of beliefs,
without force or fraud, would be if that society could
achieve the condition of classlessness, either by a
miracle or by revolution,
Select the correct option among the following -
(1) Only statements (i) and (i) are true
(2) All statements (i), (ii) and (iii) are true
(3) Only statement (i) is true
{4) All statements (i), (ii) and (iii).are false
(5) Question not attempted

50. STR—<RT WA oiX diver & 9N ¥ wffEg ¥ 9§

PITET T GE ST 87

(1) 1960@?1970%%#3%%3@%@
EUEEIN

(2 Wite & Friem @& kM @ W TE TEA A
FARE wHsial &1 fEio R Reta S 9
gferr o i gemm & ofs mfa o)

(3 HaeM % SN URPE RO H, e A
TR Harg ok, errle <@ & Ra & R
W e @ fay iR dm F w9 ¥
HRIE v’ W 989 W Wiie oft|

(4) shfder 1965 § 1970 % @ANR R FH™ w® ¥y
NS WHIe (@iders) & g HERiEE o) -

(5) sraa Uz

51. %d%fzgaﬁww(m)a%aﬁﬁﬁmﬁﬁaﬁﬁ@

1 gqa <7 Racerds, smggds, G ik N
I .

(2) ¥Rd 3k Y o AMR HE (TUE) T a9,

2024 H IR 3R i WEER) TEsiki (TEPA) W
TR fay |

- (3) TEPA &1 J&g iy 98 & T oer = afiel 10 4t

# uRd o weue fage e & e ey 150 R
IARD SfeR TP FeM SR uRg § 1.2 ffeme
TE AR GorT @7 gl & wewd § FRw @)
IEMET &1 & oY fcasal T @f 21

(4) THer 3 UR Wed il @ o™ @ foy ga @R
3k ¥ vhever @ ge@r o & fog 1970 ¥
g U SfeR—TReR |ieT 2 ;

(8) IrgilRar weA

52. ‘e @ wERiard) Rigia & IR § Frfieg o

W AP AR Y —

" Y (i) RN BT AeaE] Rigia, Sk R W @

ﬁwwﬁaﬂﬁﬁﬂamﬁwmww

U7 wear & 6 ol A v & Rea women
waﬂm%‘l

(u)mﬁm'c:ffa‘s’%ﬁm% TN U

'“ﬁwwﬁiﬁrﬁﬂé’rm srl%ma‘mmwra‘r#m

W%ﬁwwﬁﬁ#@ﬁvﬁ%wﬁaﬁ
DI DI |

T (i) TNl sl A, o 9N 9 9 e
G ) o3 O e 1 ) B ol 1 Tl -
WHAT &, SHPI UPAE TRIB] I BN 6 98 O
ﬂﬂg&mmzﬁrﬁrzbwﬁmﬂmaﬁﬁqamm
Wﬁ@ﬁﬁﬁﬁﬁwgﬁ—

(1) Bt o () o (i) T &

(2) =0 T (), (i) AR (iii) wew & »
(3) Baet U () T &

@) Tf T (1) @) 3R (iil) eraea &

(5) agaRd u

14 -2
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53.

54,

53.

56.

57.

58.

s

Which one of the following pair is not correctly 53
matched?

(1) The Second Stage — Betty Friedan

(2) The Dialectic of Sex - Simone de Beauvoir

(3) “The Female Eunuch — Germaine Greer

(4) Sexual Politics — Kate Millett

(5) Question not attempted

“Virginia School’?

(1) ‘Elite. Theory (2) Group Theory
(3) Rational Choice Theory {4) Critical Theory
(5) Question not attemipted

located?

(1) ‘Addis Ababa

(3) Nairobi

(5) Question not attempted

(2) Harare
(4) Abuja

Consider the following statements about Ministry of

Development of North Eastern Region (MDONER) —

(i) The Ministry of Development of North Eastern
Region is responsible for the matters relating to
the planning, execution and monitoring -of
development schemes and projects in the North
Eastern Region. It was established in the year of
2010. -

Vision of MDONER is transforming North East
Region .through Development, in sistainable ‘yet
accelerated manner, affording comprehensive
growth and access to ease of living to all its

 citizens.

Select the correct option from the following -

(1) Both statements (i) and (ii) are true

(2) Only statement (ii) is true

(3) Both statements (i) and (ii) are false

(4) ‘Only statement (i) is true

(5} Question not attempted

(ii)

process’ is not described by Robert Dahl?

(1) The fallacy of (2) Public awareness
electoralism
(3) Equality of voting (4)  Active participation

{5) Question not attempted

Resolution 377A {V)?

(1) 3 November, 1950

(3) 29 January, 1952

(5) Question not attempted

(2) 31 January, 1952 !
(4) 19 November, 1946

Which of - the following theory- belongs to the 94

Where ‘is. the Secretariat of the African Union 35

Autonomy - 56.

Which of the following parameters of ‘democratic  97-

‘When did the General Assembly of UN. adopted 98.

Rrifies ¥ ¥ BT W ghfer T &

(1) < Jbrs W — 981 HieA

(2) & SHaifies div A5 — REF & ZER

(3) T W& g8 — WA UK

(4) vgee diliRew — de Aol

(5) srgaRa w1
*?Wﬁﬂ@ﬁﬁ%'ﬁﬂwm%ﬁﬁm@‘ﬁﬁﬁﬁﬁ
?

(1) sifm Rigra (2) v R
. (3) TouiTa TEH g (4) eeEee Rigr
(5) argaia ueA
(1) 3™ ST (2 =R
(3) Rt (4) srgsm
(5) srgaRa uww
'a'ﬁa‘lqvlﬁl —
R qdi &4 fder " (MDONER) & &R #
ffaRed doFl W AR & =

() R & foem A3em gErr & d e
fRET & dRE a9l & for ReRR 81 s
RIS a9 20108 1 T <fi [

(i) WL EaR (MDONER) & gfEapivr wad
i @R T ¥ R & T ¥ o O 8
T ARST Bt oG § A 8

FrfaRaa § ¥ G& foeT o1 wgm o —

(1) <t T () 9K () weg §

(2) B9 FoF (i) ¥ &

() gFT B (i) @R (i) Tora & |

(4) daw T (i) T &

(5) STTaRT wed i

Agst § | et aviw T8 fpar e 87

(1) Fafearg o ymear  (2) 59 S

(4) ufrg gaaiar !

(3) AT P WA

(8) srgafa wed

?jﬁgqﬂfrwmm#mmym {v) = %9 affiga
?

(1) 3 =R, 1950,
(3) 29 &, 1952

(5) R ugA

(2) 31 v, 1952
(4) 19 %R, 1946

14 -4
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59

60.

- Consider the following statements about
‘A Discowrse on Origin of Inequality’ written by
Rousseau - :
Statement (i): He has not made any distinction
between natural inequality and convenfional
inequality.

Statement (ii): According to him, natural inequality
is largely unalterable, however, conventional
inequalities can be reduced by’ altering our social
arrangements.

Choose the correct option from the following -

(1) Only statement (ii) is true

(2) Both statements (i) and (ii) are true

(3) Only statement (i) is true

(4) Both statements (i) and (ii) are false

(5) Question not attempted

Consider the following statements of Almond and
Powell related to Political System —

(I) Political system is surrounded by an
environment.

(I) Political system operates in the environment with
which it is surrounded. .
() Political system is influenced by its environment.
(IV) Political system does not influence this

environment. Y

Choose the correct answer -

(1) Only I, I and IV are correct
{2) Only I, IT and IN are correct
(3) 1, 1, I and IV all are correct
(4) Only I, HiI and 1V are correct
(5) Question not attempted

59. Tl g foRem U R ol GiRRE ofE
FRARE B wol § PR s R s

60.

[

R = —

"B (i)r 9% WIPRIE Sl SR URURS AT &

4re Y TR HE B

P (ii): S SR, WIHRIG JAFAFAl P! 88 P
IuRaa-ig &, Taft &N aEiTe g ¥ 95dE
D URURS AR I HF 5ar o Goar 8 |
i 4 4 w8 fawou g+ —

(1) Saa FF (i) T &

(2) M P (i) ofR (i) O &

(3) Faar T (1) I &

(4) <N FF (1) 3R (i) e §

(5) srRIRG Ue= ‘

AFE T U @& UorINE dger o &g

fr=ifrT weoFl w® faR #ifiT —

) VSFIP el IR oN% 9 9EET a7 qatEaRer
I oY w7

() TeFIRe @gawer 99 waiawe ¥ & aRefem S &
oy o8 fr <= 81

(1) Mo IR =aeeil $99 aiener ¥ woifod el & |

(W)WW@W@W@E{@W
]

&l SR &1 I PIOTY —

(1) Bae I, Ml o IV 98 &

(2) Saer I, 11 aom 11 W& &

(3) I, II, III o IV &) & &

(4) Pae I, I oo IV 621 &

(5). srfRIRa W+

61. According to the Article 269 of Constitution of India,  61. WRT & wREM & arede 260 & sFR, Frfafa §
which of the following taxes are levied and collected ¥ 7 g7 Squda AR WuRkd Reg ol @ |l wn
I(J1y) tge Uni({)in but assigned t& ;h; States? o sl T T R —
tamp dut axes on the sale or
p ey purchaso of goods (1) = geh (2) 1T & B4 91 APy W R
(3) Taxes on services (4) Taxes on income (3) Wamif W ¥ (@) 3ma 9B
(5) Question not attempted (8) argaRa w1
62. Considér the following statements about India’s 62. ©gw® I # 9RO & WFEH & 9% § F=fRaa weF)
contribution to United Nations — R [JER o — :
() India’s mediatory role in resolving the stalemate (i) oIRE ¥ ggdlRal | TRRY 91 s =9 ¥ 99
. over prisoners of war in Korea led to the signing P TR DT D R PIRAE g B A
of the armistice ending the Korean War, H el JHRM TR SRR 5y Y|
(ii) India served as chair of the three International (i) G o gS-9F W 1951 & Rrar awEia grR
Commissions for supervision and control for g faam, Fafear ik ek & =iy @Rk
Vietnam, Cambodia and Laos established by the Ao & fog &F oiaRisT Al @ orag & WY
1951 Geneva Accerds on Indo-china. # o far)
Select the correct code - el BIS PT TG HN —
(1) Only (i) is correct (2) (i) and (if) both are wrong (1) et (i) &l & (2) {i) 3 (i) =it 1o &
(3) Only (ii) is correct (4) (i) and (ii) both are correct (3) ae (i) W B (@) (i) sl (ii) <0 e
(5) Question not attempted (5) argaRa v
14 -3 Page 14 of 32
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63. Which Article of United Nations Charter authorizes
the Secretary-General to ‘bring to the attention of the
Security Council any matter which in his opinion may
threaten the maintenance of international peace and
security’?

(1) Article 89
(3) . Article 93
(5) Question not attempted .

64. “Creation of new agencies’-is an example of which of
the following types of public policy identified by
Theodore Lowi?

(1) Redistributive
(3) Distributive
~ (5) Question not attempted

65. Fred W. Riggs attached great lmponance to a balance
between equality and capacity. According to him,
development of equality was symbolised by leftist
groups and of capacity by rightist groups. Unless
there was a balance between the two, political
development was likely to get into- which of the
following sitnation?

(1) Developmental trap

(2) Developmental syndrome
(3) Developmental paralysis
(4) Developmental explosion
(5) Question not attempted

66. In the question given below, two statements are
marked as Assertion (A) and Reason (R). Give your
answer according to the code given below -
Assertion (A): Plato and Aristotle couid not overlook
the fact that political authority, in their society, was
further weakened by a strong individualistic
philosophical movement launched by the Sophists.
Reason (R): The Sophist philosophers could not
accept the justness of the existing order, they
considered man as the measure of all things-

(1) A is false but R is true
(2) Both A. and R are true and R is the correct
explanation of-A

(2) Article 103
(4) Article 99

(2) Regulatory
(4) Constituent

{3) Both A and R are troe but R is not the correct -

~ explanation of A
(4) Ais true but R is false
(5) Question not attempted

67. Read the following statements carefully. about
Political Theory —
Statement: (i) Karl Popper wrote the books “The
Logic of Scientific Discovery’ and ‘The Poverty of
Historicism’.
Statement: (ii) Karl Popper’s (falsificationist
methodology holds that scientific theories are
characterized by entailing predictions that future
observations might reveal to be false.
Select the correct option from the following -
(1) Both statements (i) and (ii) are true
(2) Only statement (ii) is true
.(3) Only statement (i) is true
(4) Both statements (i) and (ii) are false
{(5) Question not attempted

64.

65.

(1) srgevE 89 () aaaah: 103
(3) gy 93 (4) sF7=9" 99
(5) ajﬁﬁa RS

(1) yafdaonEs (2) Frame™
(3) faRoncs (4). TeH

- B, XISFIR famra @ FrefiRed § Y fbw Refy A

[

66.

67.

TEA B HHET 87
(1) fPprares Sier
(2) RerrTs Rigm
(3) AFr~IHE geTEr
(4) foTras fee
(5) arIRa e

9 T U e # 37 TR 7 AWeRF (A) 3R BRI
R) @& vy ¥ fafeg fea @ 21 99 Ry T B &

I SR <IfoIg —

@R (A): W SR SRE] 59 W4 B TeReRE

T8 R G fh SIS WA F OeEaE O, Qi
ﬁmwwwwmm

W(R) @ﬁﬁ%?ﬁ?ﬁmmwaﬁw
B WHR 6 B T, Ioi A i G4 Ao Bl
ANGTS A |

M AT EARTR T3 &

(2) A 3R R M w1 € 3R R, A &1 961 &= &
(3)%%?Raﬁw§ﬁﬁﬁk,laﬁaﬁm

(4) AT & WP R a9 &

(5) IrgaRd w#

Wrrr'i’rl%msq% Rigia & IR A FERRag o=Fl & 9w 9
I () F@ diw® | T difve dift wskive
fSadr 3R T diadi offt RRRe g fordi )
TRF: () Pl 9w B e ggia aeh, §
T Il Y IO aIed 8 wed 5 -
Freafafad § @ wd fAee T -

(1) S/ w2 (1) 3w (i) 9oy &

(2) Baa T (i) T B

(3) Bact BT () T B

@) 2= o () 3w (i) sy &

(5) sraRa ws

148 -
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68. Match List-I (regional and sub-regional instruments

69.

71.

relating to terrorism) with List-II (year) by using the

correct code given below — .
List-1 List-TI
(a) Association of South East Asian (i) 2005
Nations (ASEAN) Convention on
Counter Terrorisim :
(b) Council of Europe Conventionon  (ii) 1999
the Prevention of Terrerism
(c) SAARC Regional Convention on (iii) 1987
Suppression of Terrorism
(d) Convention of the Organization (iv) 2007

of the Islamic ‘Conference on
Combdting International Terrorism

(1) @)-(v), (b)-(), (c)-(iid), (d)-(ii)

(2) (a)-(id), (b)-(i), {c)~(iv), (d)-(iii)

(3) (a)-(iv), (b)-(ii), (c)-(i), (A)-(i)

(4) (2)-(3), (b)-(id), (c)-(iti), (d)-(iv)

(5) Question not attempted :
Who among the following has given the idea of
‘Peace race’ instead of Arms race? '

(1) Franklin Roosevelt  (2) Quincy Wright

(3) -Seymour Melman ~ (4) Hedley Bull

(5) Question not attempted

- Who among the following was appointed by
Maharana Bhupal Singh as his Constitutional Advisor
for the formation of ‘Rajasthan Union’?

(1) K.M. Munshi (2) V.T. Krishnamachari
(3) B.N. Rau (4) B.R. Patel

(5) Question not attempted )

The mass mobilizing party ‘Chama Cha Mapinduzi

(CCM)’ treated by Julins Nyerere is related to which
of the following countries?

(1) Ethiopia
(3) Tanzania
(8) Question not attempted

(2) Kenya
(4) Zambia

68. ﬁ%ﬁqwﬁﬁraﬁsmmmiﬁ—l (arTcicparg

¥ Haftr ey ok Su-a Suewvr) B G-I ()
a“zwgﬁﬁmﬁ—

A

(a)duclqvqlcz ¥ goEd W aftor (i) 2005
f{ci Qﬁlms‘ Gk AGUCERCITDE

(b) GTW]?{ a%’r UM W R (i) 1999
IRYS BT HFIN

(c) acidae B T W WD B (iii) 1987
FAR FEE -

(d) 3icisia dciparg BT GbHEd (iv) 2007
P TR SRl TR 98
P TR

(1} @-Gv),.(b)-(), (c)-(iii), (d)-(ii)

(2) (a)-(ii), b)-(), (c)-(v), (d)-~(iii)

(3) {(a)-Gv), (b)-(iii), (c)-(ii), (D-(@)

(4) (2)-G), (b)-Gi), (c)-(iid), (d)-(iv)
IR W

(5)
69. fFi=ifpa 4 9 fFa PR o B @ W™ arrﬁaﬁ
B8 oI faar
(1) BHfeM Holdee (2) =i wize
(3) IR Herd (@) &sel g
(5) srgaRa us

70. mERoy uie fHE 9 e gfee @ e oeg

ﬁwﬁmﬁﬁﬁr@mﬁmﬁawﬁgﬁ

il

(1) ST 5 (2) T, FUEER
3) dive. v (@) Gk we

(5) saRa v

. wfega =W ERT ST S e & GEm o
_ g Prafafs 4 @ few du W wWefta 8

(1) PR - (2) I
(3) o~ (4) wnfaam
(5) argeiRa we

72. “Azad Morcha’ is related to which of the following  72. ‘3ifarg Hrar f=faRea o 3 fow uowiga 9 Haftm
Prajamandal? 8?
(1) Mewar Prajamandal  (2) Kota Prajamandat (1) #ar$ ForHsH (2) P worsa
{3) Bundi Prajamandal  (4) Jaipur Prajamandal (3) g weIEHS (4) SR USTESA
{5) Question not attempted (5) armka we
73. Amange ‘the following works in the correct 73. FrifoiRaa BREN & S0 TORM & GE FoIIHRND
chronological order of their publication and choose B9 ¥ e wY @k T Ry 90 P8 $ smR W
the correct option based on the code given below — &l fameq ?J.ef
(A) Anarchy, State, and Utopia (A) o, w2, T3 TRt
(B) The Law of Peoples ‘(B) & i aife Guew
(C) Political Liberalism _ (C) diferfera fomfes
(D) A Theory of Justice . (D) T oan &if SiRew .
(1) D,A,C,B (2) D,A,B,C (1) D,A,C,B @) D,A,B,C
(3) A,C,D,B (4 A,D,C,B (3} A,C,D,B (4) A,D,C,B
(5) Question not attempted (5) srRa we
14 -84 Page 16 of 32
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74. Consider the following pairs —

(Work) (Author)
(i) Nationalism and Imperialism - Hans Kohn
in the Hither East

(if) Nationality and Government - A.E. Zimmern
Select the appropriate answer from the options given
below -

(1) Only pair (i) is correctly matched

(2) Both pair (i) and (ii) are correctly matched

(3) Only pair (ii} is correctly matched

(4) Both pair (i} and (ii) are not correctly matched

{5) Question not attempted

75. Who among the following interpreted the problem of
Liberty as a “Crisis of the Legitimacy of Capitalism’?
(1) Jurgen Habermas (2) Michael Walzer
(3) Frantz Fanon (4) Karl Marx
(5) Question not attempted

“76. Who among the following referred Rousseau as 'the
insane Socrates of the National Assembly'?
(1) Robert Nisbet (2) Alfred Cobban
(3) G.H. Sabine (4) Edmund Burke
(5) Question not attempted

77. Consider the following statements about Morris
Jones —
(I) Morris Jores has aptly referred to India as
‘Saintly Tradition’.
(1] Accord‘;ng to Morris Jones, this tradition
disapproves of struggle for power and. stresses
the importance of harmony in public life.
Choose the correct answer from code glven below —
(1) Only (II) is correct {2) Only (1) is correct
(3) Both (I) and (IT) are ~ (4) Neither (I) nor (ID) is
correct correct
(5) Question not attempted
78. Which of the following country was not represented
during the signing of a Memorandum  of
Understanding in September, 2023 regarding the
development of India-Middle East-Europe Economic
Corridor (IMEC) on.the sidelines of the G-20 Leaders

Summit in New Delhi?
(1) France (2) Saudi Arabia
(3) Israel. (4) Germany

(5) Question not attempted

79. In which of the following year, the Supreme Court of
India has disallowed the use of the Electronic Voting
Machines in~ electiois on the ground of the
Representation of People Act, 1951 for the first time?
(1) 1984 (2 1985 (3) 1986  (4) 1983
(5) Question not attempted

80. Which of the following political culture did Almond
describe as multivalued, experimental, rational-
calculating and homogenous?
(1) Anglo-American Political System
(2) Non-Western Political System
(3) Continental European Political System
(4) Totalitarian Political System
(5) Question not attempted

74.

75.

[

76.

78.

79.

80.

rfeRae g o faur & -

(@f) {eiE®)
() =efas de siRafrs - & P
sﬂa%a?s’?‘e
=n€)| g, o
mﬂqﬁmﬁ@raﬁﬁwg—r‘r—
(1) Paa g (i) we1 gafera &
(2) </ T (i) SR i) w8 gafera ©
(3) daa g (ii) Wl gAferd 8
(4) T g (i) &R () T galera €
(5) srgaia we
ﬁﬂ%ﬁaﬁﬁ\#%ﬂ#mmmﬂﬁwwaﬁm
“Yolarg &) e & Hhe D T d HIP
(1) F TR (2) WP TeeR
(3) Wice B () Tict AIEH
(5) srgaRa g
frafiag #§ 9 wO1 B EFE IRigel] @ T
g [ et o
(1) e Fee (2) sr@be DiEA
(3) witva. Hars+ () TeHs @
(8) srgaRa 7

. WiRE W ¥ dea frefaled woet ™ RER

PG —

() AR¥ SIFg 3 9IRGB G W HET B

(). §iRE S & S9N, I8 WART W P fog dud
P PR HE & TAT WGolG oiaq 3§ |gHig
P H5d WX W} <Al 2

A g T 5 . G98 TWR B TG99 DING —

(1) Fad (II)H‘&‘T% (2) dacr () wE ¥

@ OW @I E @ Fa @QTE )R

(5) IR W=

fgar, 2023 § € Reell § w20 Jaelil & RER

HEE § Ale W ANG-wF 9§ 9 anife Tferr

rEhP) & oM & Wdv § e G S W

swmz%aﬁwﬁwmaﬁﬁma‘srtﬂuﬁﬁm

& o7

(1) wig (2) T 3”9
(8) sowigE (4) ST

(5) SaRa W

freifeg 4 9 59 of § WM §R YRG & SwOR
e | @i gk aftfEE, 1951 § 9mER )
Eﬁgﬁﬁﬂﬁmmmﬁa%Waﬁwﬁr
(1) 1984 (2) 1985
(5) sriRa wes
grvs W frfiRed § SN woRie Opfa @)
(1) SIT— D IsTeageRIl

(2) 3mf¥aHr W

(3) RER RAR ITHETwRT

(4) FaiRERAE IoEaRn

(5) srgaIRa wEA

(3) 1986 (4) 1983
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81. Who among the following is the author of “The Rise ~ 81. Fr=ifeifag # & &7 ‘T wgy Us oy s Juiw !

and Decline of Nations’? T AGF &7
(1) MancurOlson - (2) E. Gellner (1) 9% e (2) 3. iR
(3) H. Kohn (4) John Hutchinson (3) w. BT (4) &= sRiw
(5) Question not attempted (5) srgiRa we=
82. According to Locke, Government is established 82. <ifs & IR, IR Ffafas 4 9 o araq 9
through which of the following? i SR &7
(1) Non-Fiduciary Trust _ (1) ¥R Jwaie =g
(2) Fiduciary Trust R (2) favare smniRa =g
(3) Moralistic Trust Eﬁ (3) Acrepar smenva =
(4) Testamentary Trust (4) Mg W amRa =
(5) Question not attempted (5) srgaiRa wee
.83. Which of the following is not correct about the book  83. difgye TS iR Rys gaf g folaw qww Rifaw
‘Civic Culture’ authored by Gabriel Almond and Bk P 9N d FEfaRem ¥ 9 99T TN S T8
Sidney Verba? L.
1 ies
O Kmaeon b i (LK () et 3 0 s
’ - - ) A Jar dliar (SieeE S ) R T Rerie

Germany) and a developing nation (Brazil).

(2) It aimed to identify the psychological attributes of (EITGTI?»{) ik QFFIT %1 e &1
a culture that sugti;yin derlzlgcracy.{:{1 (2) TEF T AT D T G el wepl @

(3) The book was piblished in 1963 and had an AT IO P e S o
immense influence on subsequent political culture (@) & Ywad 1963 # yidm g o ok W| @
research, ISR WP 2 T 4] SR Joie a7 |

(4) In identifying these attributes, the authors (9 3 (@l # veam T Od dwer ¥ 9@
emphasized two concepts: Civic Competence and RIS W SR e : AFIReE e R RS
Civic Allegiance. . Ty

(5) Question not attempted , (5) JraRd we \

84. Which one of the following pair is not correctly  84. Fyifea ¥ & Bivar T wdl wifera gt £2

matched? (1) RH ¥s e RawE — Je1 whiadi

(1) States.and Social Revolutions — Theda Skocpol (2) =€ ¥ R — FoR, T

(2) Why Men Rebel — T.R. Gurr cn - :

(3) The Anatomy of Revolution — Crane Brinton (8) = T S Reflesgert ~ 71 e

(4) Revolutionary Change — Patrick Van Inwegen (8) R ot — 4w A gt

(5) Question not attempted (5) sFIRa U

85. Consider the following statements carefully abont 85. Wi ew aiik e #ifv/e & ¥R ¥ Fr=foRaa T w

John Rawls and Robert Nozick — FIITWT&E fam = - |

(i) Rawls sought to moderate his libertarianism by a () Y0 ¥ Wi AR WEERER % UF W G
modicum of egalitarianism and AT XA BT HARG B B war e,
communitarianism, Nozick  adhered to difie ¥ e T‘ﬂa w0 WEFAAEE B e
libertarianism in its pure form, . e

(i) If Rawls is known as a 'left liberal' or. ‘egalitarian (@) afz Aew W SIRAET AT TS

liberal’, advocating a substantially redistributive SRAY & B9 F A WY, A R w9

welfare state, Nozick may be described as a 'right - P RTdel e v
liberal' or ‘libertarian’, committed toa Laissez — :;;T Er% R ST W 3 T;T?\’Jflﬁ'q -
faire 'night watchman' state. TR R Ve o B R i 2 ’

Select the correct optmn from the following - frefeieg § 9. 8 Row T -

(1) Both statements (1) and (i) are true (1) <R PN () ok GiyoeT &

(2) Only statement (ii) is true (2) d5a FoF (i) o 2

(3) Only statement (i) is true ' (3) Dadl T (i) T 2

(4) Both statements (i) and (ii) are false (@) & B (1) 3R i) Toa ¥

(5) Question not atiempted (5) arfaiRe W=
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86. Whose theory of justice ameong the following has
been called as the ‘Architectonic Theory of Justice’?
(1) Glaucon (2) John Rawls,
(3) Friedrich Hayek (4) Plato
1 (5) Question not attempted
87. According to Auguste Comte, which of the following
is the characteristic of the Metaphysical Stage of the
knowledge?
(1) Under this method knowledge of real causal
relations is obtained.
(2) It believes that the entire world is bound by
invariable natural laws. '
{3) All events are explained in this on the basis of
abstract elements and conjecture.
(4) All events are explained in terms-of supernatural
powers.
(5) Question not attempted

88. Which of the following statement is incorrect with
reference of Group Theory?
(1) All groups have one or more interests and no
group goes against its interests.
(2) Society is nothing but a synthetic form of group.
(3) To understand society ‘better, it is necessary to
clarify only the horizontal aspects of groups and
group relations, not the vertical aspects.
(4) Society is like an engine, driven by the resistance
and pushes of groups.
(5) Question not attempted
89. Match List-I with List-II and select the. correct answer
by using the code given in the lists below —

List-I List-IT
(Movements) (Associated persons)
(A) Chilika Movement (i) Sunderlal Bahuguna
(B) Silent Valley (i) Panduranga Hegde
Movement
(C) Appiko Movement  (iii) Sugathakumari
(D) Anti-Tehri Dam (iv) Chittaranjan Sarangi
Movement
Code -

(1) A-(iv), B-G), C-(ii), D-(ii)
(2) A-(iv), B-(ii), C-(iii), D-(i)
(3) A-(i), B-(iii), C-(ii), D-(iv)
(4) A-(iv), B-(iii), C-(ii), D-()
(5) Question not attempted
90. Which of the following pair is not correctly matched?
{1) Operation Iraqi Freedom — U.S. invasion of Iraq
(2) Operation Infinite Reach — Military action against
Libya ‘
(3) Operation Desert Storm — First Gulf War
@ Operatio'n Enduring Freedom — War against Al-

86.

87.

89.

90.

[

el § 9 fowe ~=m fgid &1 <@ @

RE-IPed qaP (GiT Her T4 87

(1) weifea (2) S <fed

(3) wsR® TP (@) <

(5) arpIRa wed

AT BT B R, Frafeiad § 4 @i 59 @

TSI AR BT e 87

() =9 9gf & sroiia Jamf o — SR GaEl @l
T I % Wi 2

(2) 588 g7 ArTan @ 5 ol o fifYer Teie
et & dem 21

(3) 3w We weARl @ AT I Tl 9 IGA @
IR W & SR B

() 39 99 HeARl o AR AW wiaadl @ HaH
# 2 It 21

(5) argaia I
Hgaéu;—rya%ﬂ?#ﬁﬁwﬁfﬁﬁﬁwﬁﬁm

(1) w0 TS AT AT o & F oIk B
aq%r%{fha%ﬁwaﬁm%l ﬁﬂ::,

(ﬂ;ﬂﬁrﬂ{s‘r%mm P AR Fo
|
(3)Wﬂ::}fmmﬁwﬁ$m el @Rl

W P Paq SRS T WEe FE T8 8, |
& Sgu w9 |
4) T el & wheRw ok gaml 4 uRerfem $W9
W e BT B
(5) srgaRa we=
-1 BT G-I & A e Siw ek gfml 4 <
T T P & WET W FC GE SR H TH
P —
-1 -1
CIHEE)) (Riafeer =fdm)
(A) FaferpT STFalerT () Grearel qgIen
(B) Wigcie. dell = (i) TS TS
(C) sifuey agier (i) GIRIGHRY
(D) fe=t =iy fareely (iv) e |y
SR
R_

(1) A-(iv), B-(i), C-(iii), D-(ii) -

(2) A-(iv), B-(ii), C-(iii), D-(i)

(3) A-(i), B-(iii), C-(ii), D-(iv)

(4) A-(iv), B-(iii), C-(ii), D-(i)

(5) sFIRT e

FrefaRe § 9 Simar 39 W galer 81 87

(1) SR R WieH — TP R SFRST I g

(2) ffReF grRaEe 9 — i | 91 SREE

(3) iR Tore =i — WM Tl g8

() sitres o Wed — Sd-—aEa SRk e
& foog afam

Queda and Taliban
(5) Question not attempted (5) argaie we
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91. Who among the following written the book ‘Learning
from Las Vegas’ (1972)?
(1) Arnold Toynbee
(3) Charles Jencks
(5) Question not attempted
92. Who among the following formnulated the ‘Law of
Uneven and Combined Development’?
~(1) Leon Trotsky (2) Jaime Ongpin
(3) Ramon Mercader (4) David Romagnolo
-(5) Question not attempted

93. Read the. following statements regarding thoughts of

St. Thomas Adquinas -

(i) Adquinas speaks of four kinds of law: Eternal law,
Natural law, Divine law and Human law.

(ii) Divine Law represents divine wisdom, directing
all actions and movements of the universe,

(iii) God first conceived of the universe in his mind
and then gave shape to this idea on the basis of a
system of eternal laws. These eternal rules of the
universe are only under the knowledge and direct
control of God.

Select the correct option among the following -

(1) Only statement (i) and (ii) are true

(2) All statements (i), (ii) and (iii) are true

(3) All statements (i), (i) and (iii) are false

(4) Only statement (i) and (iii) are true

(5) Question not attempted

94. Who among the followmg thinkers has called nafions

an “Imagined Community
(1) Ernest Gellner (2) Benedict Anderson
{4) Paul Gilroy

(3) KarlWolfgang
Deutsch

{5) Question not attempted
95. Consider the following statements in reference of

‘Lloyd 1. Rudolph and Susanne Hoeber Rudolph’

work —

(D Susanne and Lioyd Rudolph support the notion

that tradition and modernity are mutually
exclusive entities.
In their book ‘The Modernity of Tradition:
Political Development in India’, they launched
an insightful critique of the assumptions of
modernisation theory.

Select the correct option among the following —

(1) (@) and (ii) both statements-are false

{2) (i) and (ii) both statements are true

(3) Only statement (i) is true

(4) Only statement (ii) is true

(5) Question not attempted
96. Which of the following areas is not mcluded in the 14

areas’ mentioned in part-1 of the .declaration of the

‘Dunkel Proposals’?

* (1) Dispute Settlement

(3) Medicines

(5) Question not attempted

(2) Michel Foucault
(4) Robert Venturi

(ii)

(2) Textiles and Clothing
(4), Agriculture

91.

92.

\

93.

94.

[

FEfaiea § @ AT B aR e (1972) 4R

e fordl?

(1) smiles iy (2) e ot

(3) = iR (4) 3= I

(5) sr=IRa v

FrefaRaa & 9 e 'R ik aftafem e a%
e 31 R fear?

(1) foam gl (2) S sl

(3) V. FaeR (4) sfos A=l

(5) ergaiRG uw

P UE —
@ R’ﬁaﬁmmw%waﬁwmﬁ%w

Wwﬁmwéﬁa
(i) 9 FrFE STRg ];grﬁﬂﬁaﬂm%a’r
mﬁrwﬁ’rﬁmﬁraﬁva{maﬁﬁé@mm

gl

(ii) *FTEAF N TEd AT T ¥ FElS B Hea o 3R
% wvEd ST @ U6 WOIRN D YR W 39
R @ R fRar| sEus © 3 wweEd fem
Badl ¥R P S 20T Toger iy § ¥

ﬁwﬁvﬂ@aﬁéﬂé’rﬁaﬁqmwaﬁm—

(1) $ua wua (i) o (i) oy &

(2) Wi F (1), (1) 3N (i) v

(3) il TR (i), (i) 37 (i) 3Ty &

(8) Baa e (i) AR Gil) T §

(5)31§ﬁﬁam_

frafoRea § € fow fere = oS @& “Feafe
el oY e 4 87

(1) e TR (2) e Jevge

(3) Tret arewiT ggW (4) die fierig

(5) srgaRa.uea ] |

Hgy ¥ F=fefan oeoml w TR a¥ —

() g9 ok oS TSP T 9 UROT b1 qHe fba
%WWWWWW%I
(i) SEM W gEE T Wl & 2S5

dffeiierer ST 1 SRar # emgFelieeor
aﬁ%mﬁﬂmﬁaﬁwmﬁﬁmgﬁ
|
frfoias & & W& fidey o1 =g & —
(1) FF () 3N (i) <9 o/ &
(2) T @) 3R (i) T v &
(3) daa o (1) 99 &
(4) Dac T (ii) T 7

(5) srRa we

‘Shel TG B IFENIT B WR—1 § Jeoiad 14 &3
¥ fr=faRean 3 § @ éer it @) 87

(1) fEre (2) o w4 BUST

(3) TaEal (@) oY

(8) sraRa u=w
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97. Which of the fo]lowmg is not a characteristic of the
radical democracy found in the Third World
Countries, described by Robert Pmlcney‘7 \

(1) Representation of various interests and -their
protection

(2) Enabling integrated people to exercise their rights
and protect their interests

(3) Encouraging active participation and electoral
contest

(4) Collectivization of individuals

(5) Question not attempted .

98. Consider the following statements carefully: in the
context of Hobbes’s State of Men without Civil
Society -

Statement: (i) By the right of nature, every man is
judge of the means which tends to -his own
preservation.,
Statement: (ii) By nature, all men have equal rights
to all things.
Choose the correct option from the following -
(1) Both statements (i) and (ii) are false
(2) Only statement (i) is true
(3) Both statements (i) and (ii) are true
(4) Only statement (ii).is true
N (5) Question not attempted
99. Which of the following scholars has argued that the
Congress Governments at the Centre in India in the
decade of 1970s have transformed the Centre - State
relatioiis from ‘one of political bargaining to-one akin
to feudal tutelage’?
(1) J.R. Siwach
(3) Myron Weiner
(5) Question not attempted

100. Which of the following pair is not correctly matched?

(1) The Making of the Second Cold War — Fred
Halliday

(2) The Cold War — Evan Luard

(3) The Cold War: A Book of Documents — H.L.
Trefousse

(4) America, Russia and Cold War — George Cannon

(5) Question not attempted

101. What is the main objective of the ‘Ashgabat
Agreement’?

(1) To facilitate transportation of goods between
Central Asia and the Persian Gulf. .

(2) Making Central Asia a nuclear-free zone.

(3) Giving Central Asia a special place in United
Nations Security Council.

(4) Freeing Central Asia from -terrorist training
centres. '

(5) Question not attempted

102. Gabriel Almond and Sidney Verba have not done a
comparative study of which of the following
countries in their book “The Civic Culture: Political

(2) Bhagwan Dua
(4) Morris Jones

Ed

97. Jge fieN gm1 affa, Il g & <3t § war wm
ggﬁm‘aaﬁﬁwﬁmﬁﬁ‘ﬁmﬂwﬁﬁw
P 27
(1) fRafeer Rl o1 afaRe 7 979 g
(2) =i @rlt B $9 4Fg FFT 5 Y ee
(3) G MrRiERY St Hicares T gA1dl Jabiee
(4) =il &1 ARG
(5) srgiRa g
98. gfeq & TFING A9 & o 7T o Rerfay @ weef 3
foTRan sl W samgds R &% -
TR (1) UHld & AfffeR 9, VT Afdd o WRev &
e Y B = ¥
o A ) B o M s T s e e <
IRFR B
frfafad 4 & a8 fAwe g+ —
(1) EF1 P (1) 3R (i) 99T €
(2) 9 woE (1) 99 &
(3) TFT P (i) 3R (i) ¥ &
(4) Fae HF (i) 9@ &
(5) argaia ue
99. frfoied § & frw Rgm o 98 o R § 5 19708
wWE ¥ IRg d B H B WeR 7 -
Tl B OIS SNl § unrd et & e
¥aa e 87

(1) wiam. fyam (2) WM g
(3) TR 4R (4) Hifts sy
(5) srafRa uz

100. fFeifa # & P gl gafera w81 87

(1) T 3P 3w T JBTS Biee AN — B oS
(2) T BIes R — A FarS _
(3) T BIes N : T §F ST SIRPIEH — AT SB
(4) =R, IR U8 Flee 4R — Sifdl b
(5) argaiRer we
TLET af 8?

1. ST SR B
(1)%?&@&?%@@@%%@&%

AR $T YTH T,

(2)qwmaﬁmrgaaﬁaﬁaw1

(3) = TRMT B YT W GRET uRuE A Ry wIm
Remar| _

(4) e R 91 Sneas uRewr R ¥ gw
PR

(5) rIRa U

102. 3fdga o iRk Riedl oo 7 ol 6 fafw

Wmmgm  BET
e 4 Frefaiad § 9 e 9w 91 Ierie G

Attitudes and Democracy in Five Nations™? PTG AT T e
(1) Mexico (2) US.A. (1) At (2) wgTT T SRR
(3) Great Britain (4) Japan (3) Ac e (4) S
(5) Question not attempted (5) sraidg uga
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103. Which of the following is not included in the category
of the outputs of the Political System accordirig to
William C. Mitchell?

(1) Goals _
(3) Resources
(5) Question not attempted

104. Consider the following instruments through which
South Asia Economic Union (SAEU) will be
achieved in a phased manner as per SAARC Summit
held in Kathmandu on 26-27 November, 2014 —

(1) A Free Trade Area

(i) A Customs Union

(iii) A Common Market

(iv) A Common Economic ariid Monetary Union
Select the correct code -

(1) Only (i), (ii) and (iii)

(2) (), (i), (iii} and (iv)

(3) Only (i}, (ii) and (iv}

(4) Only (ii); (iii) and (iv)

(5) Question not attempted

105. Which of the following leader from the neighbouring
country was not present in the swearing-in ceremony
of Prime Minister Shri Narendra Modi and the
Council of Ministers in Rashtrapati Bhavan on 9
June, 20247
(1) President of Mauritius Prithvirajsing Roopun
(2) President of Sri Lanka Ranil Wickremesinghe
(3) President of Maldives Dr. Mohamed Muizzu
(4) Prime Minister of Bangladesh Sheikh Hasina
(5} Question not attempted

106. Which of the following is not included in the
characteristics of a liberal democratic state? .

(1) Security of civil liberties and individual rights
(2) Dominance of Government Ideology
(3) Based on legal rules

(4) Economy of private enterprises organized on
market basis -

(5) Question not attempted
107. Which of the foilowing revolution is not mentioned

(2) Controls
{4) Values and Costs

103. f=foifaa & 9 @ Rftmw @ e & agar
TR @R & g @ S § afeRn TS ¥

(1) @iem (2) fo=or
(3) darM (4) o9 3R AR
(5) SRR HE

104. 26.27 a7, 2014ﬁmﬁmmwwm
® IJER S SUBwl W R R e amEd 9
ToEE TP ¥ SRm el skl WY (tavda)
SR SRR —

(i Qiﬁﬂaﬁw@lﬁ

(i) TP G Yo gH

(iii} TP AR IR

(iv) T O e iR dige |y
el DS BT TIT PN —

(1) &ad (), (i) 3R (i) '
@) @@, Gi), Gii) 3R [v)

(3) Bae (@), (i) 3R (iv)

() Baa (i), (i) AR (iv)

(5) ariRe e

105. 9 S, 2024%! TRy wa= 3§ weEEEh o Ry a1 @ik
ARORYE @ ARI-UEY TERIE | USRI ¥ P Pl
ar SuRerd & o?

(1) Ak & Tgufd gedRaRiE w9
(2) Seiwr & wsufa Afrer fAmaRiE
(3) Arereg & Ul S, AEFE qEe
(4) SRy & wFEE I g6
(5) srafa we=

106. SgR S@aqite o0 o [Emael § e 4
P AreAfeT T8y 27
(1) W% wdzaEl T AT @ ARHR B gy '
(2) REr FAORYRT &1 9ERg
(3) v el 9= SmRARY
{4) IISTRY MY R HAfST Froll Seml @ srldmsen ;
(5) SrgaRa W s

107. 3% @, fomde ok W A9 g e wifar &

by Seymour M. Lipset and Stein Rokkan? '- Joot T8 s T &7
(1) National Revolution H (1) i wif
(2) Structural Revolution (2) erERTa shifd
(3) International Revolution {3) sicRisdia wifer "‘
(4) Industrial Revolution (4) =R wifa :
(5) Question not attempted (5) sk A

108. ‘Silent Spring’, a work related to the Global 108.3Rew wu ¥ wWigwliy aidem & wiftlg oy wmele .
ﬁrévfif)?lzﬁ?:;a?l Movement is related to who among fair frfoRas 9§ 9 f5as Hsfg &7 ‘
(1) John Muir (2) Jamie Margolin :;; g@?‘_&; :2 ;ﬁ; _—
(3) Edward Abbey (4) Rachel Carson ‘
(5) Question not attempted (5) srgaRa we /f
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109. Consider the following statements -
. () The aim of the Gujral Doctrine is to improve
relations \with neighbouring countries.

(I) Krishna Doctrine:- Its aim is to protect the
interests of overseas citizens.

(III) The main objective of Connect Céntral Asia
Policy has been to promote strategic and defense
relations.

Select the correct answer using the code -

(1) Only.1and 1 are correct

(2) Only 1is correct

(3) 1, IT and IIT all are correct

(4) Only I and TN are correct

(5) Question not attempted

-Read the following statements related with Plato
carefully -
Statement I: Knowledge & opinion are exclusive,
Statement II: There are two forms of virtues -
(i) Virtnes based upon traditional morality which

changes according to time & space.

(i) Virtues based upon knowledge which is eternal.
Select the correct option among the following -
(1) Statements'T and II both are true
(2) Only statement I is true

: (3) Statements I and II both are false
. (4) Ounly statement.Lis true

(5) Question not attempted

Read the following statements (i) and (ii) which have
been quoted from preface of a famous book -
Statement (i): "If we wish our civilization to survive,
we must break with the habit of deference to great
men. Great men may make great mistakes; and as the
book tries to show, some of the greatest leaders of the
past supported the perennial attack on freedom and
réason,"” )
Statement (ii): "The book is a critical introduction to
the philosophy of politics and of history, and an
examination of some of the principles of social
reconstruction.”
‘Who among the following is the writer of this book?
(1) Max Horkheimer (2) Theodor Adorno
(3) Gyorgy Lukécs (4) Karl Popper
{5) Question not attempted ~ ~
112. Who among the following thinkers stated that "The
new science’ of politics is a true symptom of its
- decline"?
(1) Michael Oakeshott (2) Alfred Cobban
(3) Leo Strauss (4) Seymour Martin Lipset
(5) Question not attempted
113. Under provision of which of the following Articles of
the Constitution of India the Representat%i'on of People
Act, 1951 was enacted by the Parliament of India?

111,

108. fr=faRaa FeFl R R P — _

()] wyﬁ%mwméﬁﬁww
&l &Y

() Fon ST o1 ST AWaRn wRaEl @ feal Bl
R B 8T ¥

() Fae Sed R WRRN &1 9e siw Wit
g T |l P gTar 3 38T T

T BT W D Y WEl IR gAY —

(1) @aet | gorr 1 wEl & :

(2) oaeT 1981 &

(3):1, neem mEd e &

(4) Baet [ @ m R g

(8) arRa we

el ¥ gatg FrafaRed wuEl o smgge 98 -

we: 1 9 &R W I £ ~

w11 9Ol & &1 w9 § — _

() TRuR® ear w® smRa 9 s w9 8k
‘RIM & 9N 98 81

(i) S TR RING SO S wmead 2

fr=ferRaa § & 98 Reen &1 79w Ffvw —

(1) T2 I iR O =FT o §

(2) Baa Foe H O 8

(3) TN I 3R II <1 o/ 9d &

(4) Bat T 1 O B -

110.

- (5) sgaRa wwA
111. fpafaRag el (1) &R () & 1, ot v uig o
B TR ¥ Sga fhY TG —

FoE () IRk g § . T R Wi <)
1 & AEE Al & wR SHE B e B BT '
fTEm o SR SR 2, R & o Tered TRl 7.
AT 3R T IR R g9 31 9 el
T (i) TS I ok SR & E T W
WAy uRey & ok wFIiTe AR & g5 Rigial
N UF uden 21

fr=feRaa # 9 9 30 g & ows 87
(1) da9 BElEw (2) RrSKR vSHl
(3) wifsl oI’ (@) @l 9w
(6) 3R ue
112. fr=fafa 4 & 59 are 3 98 @ & & worifa
BT 7147 o SO o9 P 9ol deor 877
(1) 9% e @) yabs P
(3) forr wia (8) dR MiéT foamee
(8) srglRa w \
113. F=ifda 4 & 9Rd & diou & 359 ag=s & wau™

% I o sfaffE aRfem, 1951 YR &) d@4g
ERUGRIERIE TS

(1) Article 324 (2) Article 325 (1) =T 324 -(2) sFgEE 325
(3) Article 327 (4) Article 326 (3) srg=T 327 (4) g7 326
(5). Question not attempted -(8) ARG e :
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114. Arrange the following works in the correct

chronological order of their publication year and
choose the correct option based on the code given
below -

(A) Harold D. Lasswell: Politics: Who Gets What,

When, How

(B) Arthur Bentley: The Process of Government

(C) Charles E. Merriam: New Aspects of Politics

(D) George E. Catlin: The Science and Method of

Politics
(1) C,A,D,B (2) B,C,D,A
(3) B,C,A,D (4 D,ACB

(5) Question not attempted,

115. Consider the following pairs of statements and their

authors carefully -

(i) Politics as nothing more than a means of rising in
the world + Samnel Jehnson

(ii) Politics as the systematic organization of hatreds
: Henry Adams

(iii) Political power ‘as
: Hannah Arendt .

Select the right answer among the following options -

(1) Only pair (ii) is correctly matched

(2) All pairs are correctly matched

(3) Only pair (i) is correctly matched

(4) Only pair (i) and (ii) are correctly matched

(5) Question not attempted

acting in concert

116. Consider the following statements in reference to

Aristotle’s view on women —
(1) A man’s goodness is goodness in the absolute

sense, while a woman’s goodness remains

relative.

(i) Women are confined to the private sphere of
household since personal family ties are natural.

(iii) Political life requires participation by those who
are equal both with regard to leisure time and
possessions, women do not have these.

Select the correct option among the following -

(1) Only (i) and (ii) are true

(2) Only (i) and (iii) are true

(3) Only (ii) and (iii) are true

(4) All (i), (it) and (iii) are true

(5) Question not attempted

117. Who among the following has expressed the view that

minimalist view of democracy could lead to ‘fallacy
of electoralism’, a situation where electoral process is
given priority over other dimensions of democracy?
(1) Terry Karl (2) Fareed Zakaria

(3) John Rawls (4) Joseph Schumpeter

(5) Question not attempted

118. Who among the following is the main representative

thinker of the Socialist Stream of the Feminist
Movement?

(1) Mary Wollstonecraft (2) Mary Astell

(3) Harriet Taylor (4) Sheila Rowbotham

(5) Question not attempted

114,

115.

116.
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119. According to Bentham, which of the following
criterion is used to measure the quantity of pleasure at

the level of society?
(1) Duration (2) Fecundity
(3) Purity (4) Extent

{5) Question not aitempted
120. Arnold Brecht enuméateg the eleven steps of the

scientific method,in the context of political science.

Which of the following step was not mentioned by

him?

(1) Prediction

(3) Observation

(5) Question not attempted

(2) Description

(4) Working Hypotheses

121. Which of the following statement is incorect in

reference to colonial policy of various powers?

(1) The Britishers ‘deliberately disfigured ancient
Indian history and old institutions so that the
people of India lost confidence in their past.

(2) As France was not willing to grant independence
to its colonies even after Second World War,
Indo-China and Algeria had to wage violent
struggle for their independence.

(3) Belgium has great association with the people of

their colonies like Cango and it took steps to
create elites class there to take over the reins of
power once she decides to withdraw from the
colony.

- (4) British colonialism encouraged the growth of
casteism and communalism in India.

(5) Question not attempted

Which of the .following statement is correct about

Swatantra Party?

(1) It supported the Policy of Non-alignment.

(2) This party asserted that the government should
control the economy.

(3) Swatantra Party was formed in 1969 by
C. Rajgopalachari. .

(4) This -party was opposed to taxation being done
keeping.in mind the interests of the economically
-weaker sections.

(5) Question not attempted

Which of the following thinker attempted to give

coherence to a theory of the state by identifying

structural characteristics that ensure the stability and
cohesion of the state and the dominant classes under

capitalism? .

(1) Ho Chi Minh (2) Louis Althusser

{3) Nicos Poulantzas {4) Theodor Adorno

(5} Question not attempted

122.

123.

)

18.dop & oER, Frfoiled ¥ & ¥w & W & B
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124. According to Heinz Eulau, behavioralists generally
preferred somie specific areas as the unit of their
study. Which of the following is/are included in these
specific area(s)? '
(I) Political systems and:subsystems
() Comparative politics
(III) Processes
Choose the correct answer -

(1) Only (I) is correct

(2) Only (1) and (II) are correct

(3) (I), (1) and (1) all are correct -

@) Only (I) and (HI) are correct

(5) Question not attempted

125. Which of the following option is incorrect in
reference to J.S. Mill’s Utilitarianism?

(1) He could not agree that all pleasures were equal,
nor that the market distributed them fairly.

(2) He held that it is not the business of the
Government to actively promote the happiness of
individuals.

(3) He held that men were capable of something
better than the money-grubbing and starvation -
avoiding existence.

(4) He rejected the maximization of indifferent

utilities as the criterion of social good and put in
its place the maximum development and use of

human capacities like moral, intellectual,
aesthetic, as, well as matenal productive
capacities.

(5) Question not attempted .

126. According to Rudolph and Rudolph, thé ‘Marginality
of Class Politics’ in India has been affected by which
of the following factors?

(A) Historical timing of democracy

(B) Industrialization

(C) Socialism

Choose the correct answer from the code given
below -

(1) Only (A) and (B) are correct
(2) (A), (B) and (C) are correct
(3) Only (A) and (C) are correct
{4) Only (B) and (C) are correct
(5) Question not.attempted

127. Which of the following two leaders became Head of
State/President of the. USSR (Soviet Union) after
Leonid Brezhnev and before Mikhail Gorbachev?
(i) Yuri Andropov
(ii) Konstantin Chernenko
(iii) Valentin Paviov
(iv) Alexei Kosygin
Select the correct code —
(1) () and (i)
(3) (iti) and (iv)
(5) Question not attempted

(2) (i) and (iv)
(4) (i) and (iii)

124. 39 e FERAIEE ¥ ARG §Y
ﬁrﬁmﬂaﬁsﬁﬁ Waﬁmzﬁmﬁmﬁm
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(A) BT B UTEIND PreTervs
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129.

130.

131.

128. Read the following sentences carefully regarding

Cicero— |

(I) ‘De Republica’ is a political work by Cicero.

(I) Cicero’s book ‘De Legibus’ was an attempt to
interpret Roman history in terms of Greek
political  theory.

(IM)In the ‘De Legibus’ Cicero has described the

.. main elements of the Roman State system.

Select the correct answer using the code.

Code -

(1) 1, II and 11T all are true

(2) Only I and H are true

(3) Only I is true

(4) Only II.and 101 are. true

(5) Question not attempted

Consider the following statements of Rajni Kothari

regarding form of modernisation in India —

(I) The reaction that took place due to the impact of
modernity in India gave rise to a new awareness
of old tradition and culture, efforts were madé to
reinterpret and revive it and to give it a new form.

(II) It was accepted in India that modernity meant

' destroying theé old thing from their roots and
adapting completely new things.

Choose the correct option —

(1) Only (I) is correct (2) Both (I) and (II) are

correct

(3) Neither (I) nor () is  (4) Only (1) is correct
correct

(5} Question not attempted

Which of the following is an incorrect statement?

(1) ‘Isolationism’ is the principle of minimal
participation in world politics or staying away
from it altogether.

(2) ‘Neutrality’ is described as the political and legal
status of a country, not at war with either of the
two belligerents.

(3} ‘Non-Alignment’ is a policy of staying away from
military alliances.

(4) “Neutralization is the state of being neutral as
required, it can be given up.

(5) Question not attempted

-Which of the following statement is incorrect about

Hegel’s Philosophy?

(1) There is a basic difference between the ‘essence
and ‘existence’ of a thing. -

(2) When, essence is fully grasped, it no longer
remains an isolated object, but becomes the
absolute reality representing the actual realization
of all its potentialities and assuming a totality and
a unity.

(3) The real is the rational and the rational is the real.
The real is not what actually exists, but is what is

128.

129.

130,

131.
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(5) Question not attempted (5) SrgaRa W
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133.

134.

135.

136.

132. Consider the followiilg statements about democratic

governance in India —

() The Government of India has taken a series of
steps towards strengthening of grass-root
democracy and make citizeps participate in the
democratic and development processes.

@) It started with Community Development
Programme (CDP) launched in 1954 with the
aim of bringing about overall development of
rural areas through people’s participation.

Select the correct option -

(1) Both (i) and (ii) are
true

(3) 9ﬂ1y (i) is true

(2). Only (ii) is true

*(4) Both (i) and (ii) are
false

(5) Question not attempted

“Aduit Suffrage has social implication for beyond its

political significance........ many social groups,

previously unaware of their ’ strength and barely

touched by the political changes that had taken place,

suddenly realized that they were in a position to wield

power.”

Who said above statement?

(1) N. Gopalswamy (2) K.M. Panikkar

(3) B.R. Ambedkar (4) KM. Munshi

(5) Question not attempted

What is the name given to India’s counter strategy
against China’s ‘String of Pearls’ Policy?

(1) Necklace of Diamonds

(2) Necklace of Quartz

(3) Necklace of Platinum

(4) Necklace of Pearls

(5) Question not attempted

Which of the following work of Plato contains an
imaginative and satirical version of Socrates’ defence
trial?

(1) The Republic

(3) The Apology

(5) Question not attempted

{2) Crito
(4) Laches

Post-behavioralists studies involves —
(i) Making Political Science a pure science.

(ii) Focusing upon adequacy of technical methods
' rather than the accuracy: _
(iii) Focusing upon reconstruction of society.
Select the correct option from the following -
(1) Only (i) and (iii) (2) Only (ii) and (iii)
(3) AlL(D), (i) and (iii)  (4) Only (@) and (i)
(5) Question not attempted
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137. Which is the highest decision making body of the
Eu'ropean Union?
(1) European Commission
(2) European Council of Ministers
(3) European Parliament
(4} European Council
(5) Question not attempted

138. Which of the following pair is not correctly matched
in the context of Cold War?
(1) COMECON - Henry Kissinger
(2) Massive Retaliation — Foster Dulles
(3). Operation Solarium — D, Eisenhower
(4) Telegram and, The ’_Po]icy of Containment —

George Cannon

. (5) Question not attempted

139. ' Which of 'the following pair (Matter-List) is not
correctly matched? .
(1) Insurance — State I'ist
(2) Treasure Trove — State List
(3) Cultivation, manufacture and sale for export of

opium — Union List .

(4) Prevention of cruelty to animals — Concurrent List
(5) Question not attempted

140. Who among the following has called Mach1avelh the
Pioneer of Behaviouralism?
(1) William T. Bluhm.  (2) William A, Dunning
(3) W. Coker {4) Michdel B. Foster
(5} Question not attempted

141. Who among the following sfated that “The 'De
Republica is a ‘Pale replica’ of Plato’s Republic”?
(1) C.E. Maxey -(2) G.H. Sabine
(3) M. Foster (4) E. Barker
(5) Question not attempted

142. Which of the following Political Party’s National

Exeéﬁﬁve has called for the dissolution of the
Constituent Assembly of India in 19487

137. EiGrg ¥ Y dred FofaeRy W s 87
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4 i ofeg
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138. 91 gg & o= o Fifea 9 ¥ Far 79 g
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q 1948 ¥ WRG B WRUF W F HT FE BT ngq
o an? .

(2) =R i

(1) Socialist Party (2) Swaraj Party (1) dwferee ardf
(3) Schedule Caste Federation (4) Forward Bloc (3) rege, T PR (4) BRI =i
. (5) Question not attempted (5) (—Hﬂﬁﬁa ED)
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143. Which of the following Committees in India has

recommended that ‘Lodging a false account of
election expenses should be made an electoral offence
and the imprisonment for contraventign of the
provision should be for two years’?

(1) V.M. Tarkunde Committee

(2) Inﬂrajeet Gupta Comunittee’

{3) Vohra Committee

(4) Dinesh Goswami Committee

(5) Question not attempted

144. Niccolo Machiavelli placed the State above morality
because he believed that -

Statement (i): The needs and demands of the State
should be given priority because the State is the best
form of social organization and the most essential
institution for human security and welfare.

Statement (ii): If the State uses only moral means to
fulfil its objective, then it will be impossible to
control the egoistic and aggressive tendencies of man.
Statement (iii): The State was only an immoral
institution.

Select the correct option among the foIlowing -

(1) Only statement (i) and (ii) are true

(2) All statements (i), (ii) and (iii) are true

{3) All statements (i), (ii) and (iii) are false

(4) Only statement (iii) is true

(5) Question not attempted

145. Which of the following countries is not included
among the-observer countries of the SAARC till June,
2024?

(1) China

(3) Iran

(5) Question not atterpted

{2) Mauritius
(4) Russia

146. Focussing on the ‘Metropolis-Satellite Structure’ of
the world capitalist system; Andre Gunder Frank
chose which two countries as case studies to backup
his theory in his famous book ‘Capitalism and
Underdevelopment in Latin America’?

(1) Brazil and México  (2) Argentina and Brazil
(3) Brazil and Chile
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(4) Argentina and Peru
(5) Question not attempted E
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3

(1) Both pairs (i).and (ii) are incorrect

(2) Only pair (ii) is correct

(3) Only pair (i) is correct ey’
(4) Both pairs (i) and (ii) are correct

(5) Question not attempted

her book ‘The Human Condition’. Which of the

following level/s is/are recognized by her?

) Labour

(I} Work

(III) Action

Select the correct answer using the code -

(1) Only (II) and (TH) are true

(2) (I), (I1) and (II) all are true

(3) Only (1) is trué

(4) Only (I) and (III) are true

(5) Question not attempted N
149. Who among the following stated that “Locke was 149

indeed at the fountainhead of English Liberalism™?

(1) C.B. Macpherson (2) M. Seliger

(3} -1.J. Rousseau (4) Bertrand Russell

(5) Question not attempted

150. Which of the following political parties has fielded 150.

maxirmum number of women candidatures in Lok
\ Sabha Elections 20247

(1) Bhartiya Janta Party (2) Telugu Desam Party ,

(8) Trinamool Congress (4) Indian National Congress

(5) Question not attempted

147. Consider the following pairs— 147.
(Theory) (Theorist)
(i) Logical Positivism - Rudolf Carnap,
Herbert Feigl

(i) Theory of Rational - Philipp Frank,

Choice Gustav Bergmann
i? Select the appropriate answer from the options given
below -

148. Hannah Arendt identifies levels of human activity in ~ 148.

14
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